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Which type of bond exists between an e The oxidation number of a
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As an atom of nitrogen gains electrons, o What is the total number of occupied
its oxidation number sublevels in the third principal energy
level of a zinc atom in the ground state?
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Which sta/2ment hest dese/hes the
substance that results-when etectrons-aie
transferred from a metal to a nonmetal?

A It contains ionic bonds and has a low
melting point.

It contains ionic bonds and has a high
melting point.

It contains covalent bonds and has a low
melting point.

It contains covalent bonds and has a
high melting point.
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